R BN, MER

T KFRLLICEAT HERAT(EERINOFRER)

E REZRDIEE

SIERh D R

Fﬁ%

=

062A0816

%

gl

Hh

EFRTHRFRE R ERFRM

| | R B
=

It
3

2

eFRAFLEREBERIKRE 2—

- Ty STr I
L _ T 5 | T
KER = i : > i
NN e ; L
TaCSy j'_l" .:{1 r | \’.-' bl :
2 AL Ll .__._,',J 1 ‘,'EE\." L. - o
R Ve DINge P *
SN L S D ey
RSSO ey b s o TRRE ¥ g T A
‘ < \w'\.\';_:_ﬁﬁ.,,':' [==] ﬁ{)ﬁsl i) “.“ ”L‘-—;go P e %
- 3 :ff:j’ - “\V}?n 1 ji! . = - ;
= ) %ﬁf‘:;mn
ey

,_._.' i = - j).-h-_ f _.‘ - i
| n .. ,_,,;_2‘,:‘,,' ,f_/'
5} L. s s N Sy i
G Ol W RNy 0N AL,
Y : AT
] y

By |

S — N T I S =
o LV B o o R s ) ) ST | L Y
5 L= " "-v"‘? .‘\u;,\.m d.‘-ﬁz\?\/ LSS
: g s o

W

{al 5\“3' : el o
"5 ; s SaleN i ST AT o 4 U
e —/Jﬂ-'?'l' R h}" 2 : i A
twnn © .‘“,.-._f‘_‘\‘-'w‘- .__'l,"‘_'l."" _ 2T '__i RV ‘\_" f
-~ 7 = =l : f
_J‘; g . : i = 1 oy s ;e . ;‘ 9‘.’?
= F | 2 ’ T \
g Pk et L

Y

S

27 SN

i

& X(S=1:200,000)

%35 B(S=1:25,000)

COMEIE, ELhIEREROAZEES T, RFEFEITOFHEH K 200000 (X E{§) & O EE# K 25000 (K E{E) ZEZ LD THD. (REFS T28FE. F2945)

5F

B



AHEMMOREREERAE

HAI—1 BEOEEINOHLLM BELLVEEDEENOHLIMOBER _ _ | REEE | P2 T SE
E B3t 0 B EmeEs | ooAosic | Bea | 2 | PrfEss | AN P E R A
A
{ -‘// '// U‘\(: f\/ {\"‘"*« N s
( o > ——— -
\\‘f \\\‘ o e ‘\-\ 3
— 7 R\ ™~ ———— e
e S\ A
chaN——— &

145 m L AR R BEOEZTNDOHHLHOXE TREDBEITKDAH00KN/ ME B2 HEEH
IR R C—— ELLEEOEZNDHE LR C—— +AEORBE N ImE B HEE

Rl |

EFR



RIER D R IR R R E

BRA3—2 BEYICERATSEEESNAEHEEICEHYTHEIEN/2) AEEE | 27
[ AEMBOLE | BMES 06270816 B | 2 [ et | ZF R BRI EA
, SERO FinlICBET 51 SERHN
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&S X 4 Z,na; 'Fimm(::f)ﬁﬁﬁﬁ jj(lf')icrf)é X 4 -Fjﬁﬁﬁgﬂl;g;k:F r(s:j jj(lf')qu)é R 4 ,(,:na; J:mb(z)@ttm jj(;?qu)é X % Limb(ﬁf)ttm r(;ras jj(lfl)uif)é
7 100kN/m%#Z25| 1.00 | 000 ~ 253 13973 |3mEBZZ| — ~ — — — | 100kN/m%#Z25 | 1.00 | 1095 ~ 2654 139.73 |3mzE#BZS -~ — — —
ThLst 1.00 | 253 ~ 1032 100.00 | #hds | 000 ~ 1032 2.87 14.49 ThLlst 1.00 ] 6.00 ~ 1095 100.00 | =ns | 5.00 ~ 2654 2.87 14.49
2 100kN/m##%25| 1.00 | 000 ~ 290 14590 |3mZEB2Z| — ~ — — — | 100kN/Mi%#82% | 1.00 | 1057 ~ 2654 14590 |3mE#EZS -~ — — —
ZhLst 1.00 | 290 ~ 1068 100.00 | #hilst | 000 ~ 1068 2.99 15.11 TnLst 1.00 | 6.00 ~ 1057 100.00 | #nps | .00 ~ 2654 2.99 156.11
3 100kN/mM##8Z25% | 1.00 | 000 ~ 295| 146.88 |3m%EBZ5| 000 ~ 008 | 3.04 15.36 | 100kN/m%E#82% | 1.00 | 1053 ~ 2602 146.88 |3m%i#Bz2%| 2500 ~ 2602| 3.04 15.36
ThEst 1.00 | 295 ~ 1074 100.00| Thst | 008 ~ 1074] 3.00 156.16 Thilst 1.00] 5.00 ~ 1053 100.00| This | 500 ~ 2500| 3.00 15.16
4 100kN/m##8Z25% | 1.00 | 000 ~ 307| 14888 |3m&EBZ%| 000 ~ 014 3.08 15.55 | 100kN/ %8825 | 1.00 | 1054 ~ 2684 148.88 |3m&E#BZB| 2500 ~ 2684 | 3.08 15.55
Thst 1.00 | 307 ~ 1085 100.00| Fhst | 014 ~ 1085] 3.00 15.16 Thst 1.00] 5.00 ~ 1054 100.00| This | 500 ~ 2500| 3.00 15.16
5 100kN/m%E#Bx5 | 1.00 | 000 ~ 282 144.58 |3mZEBZZ| — ~ — — — | 100kN/mZz#Bz25 | 1.00 | 1062 ~ 2634 144.58 |3m&E#BZD -~ — — —
st 1.00 ) 282 ~ 1060 100.00| This |0o0 ~ 1060 296 14.97 zhst 1.00 | 6.00 ~ 1062 100.00 | #hist | 65,00 ~ 2631 2.96 14.97
P 100kN/m%E#Bx% | 1.00 | 000 ~ 239 13741 |3mEBZZ| — ~ — — — | 100kN/m%Z#BZ3 | 1.00 | 1055 ~ 2045 13741 |3mEBZS -~ — — -
zhst 100239 ~ 1018 100.00| Ths |0oo ~ 1018|273 13.79 zhs 1.00 | 5.00 ~ 1053 100.00 | =ns | 6.00 ~ 2045 2.73 13.79
” 100kN/m%#Z5| 1.00 | 000 ~ 220 13423 |3mEB2Z| — ~ — — — | 100kN/m%Z#BZ5 | 1.00 | 1066 ~ 2045| 134.23 |3mE#BZS -~ — — -
zhst 1.00 | 220 ~ 999 100.00 | #hidst | 0oo ~ 999 | 2.61 13.21 zhest 1.00 ] 6.00 ~ 1066 100.00 | = | 6.00 ~ 2045\ 2.61 13.21
P 100kN/m##82% | 1.00 | 000 ~ 254 136.50 |3mzxE2E| — ~ — — — | 100kN/m%#2z25 | 1.00 | 1054 ~ 2000 136.50 |3mE#EZS -~ — — —
ZThLSt 100|234 ~ 1012 100.00| This | 000 ~ 1012| 2.74 13.86 ThLlst 1.00] 5.00 ~ 1054 100.00| This | 500 ~ 2000| 2.74 13.86
g 100kN/m##8%25| 1.00 | 000 ~ 238| 13711 |3mZEB2Z| — ~ — — — | 100kN/m%#82% | 1.00 | 1095 ~ 2049 13711 |3mZEHBZS - ~ — — —
ThLst 100238 ~ 1016 100.00| ThEs | 000 ~ 1016| 2.89 14.62 zhnLst 1.00] 5.00 ~ 1093 100.00| This | 500 ~ 2049| 2.89 14.62
10 100kN/m%#8z25%5| 1.00 | 000 ~ 242 137.87 |3mzB23| — ~ — — — | 100kN/m%E#Bz5 | 1.00 | 1056 ~ 2049 137.87 |3mZE#Bx5d -~ — — —
ThEst 1.00 | 242 ~ 1021 100.00 | =0l | 000 ~ 1021| 2.76 13.96 Thilst 1.00 | 5.00 ~ 1056 100.00 | =hlst | 5,00 ~ 2049 2.76 13.96
11 100kN/m%#825 | 1.00 | 000 ~ 181 127.76 |3mzx8E25| — ~ — — — | 100kN/mZE#Bz25 | 1.00 | 1056 ~ 1689 127.76 |3mZEiBzi5 -~ — — —
ZnList 100|181 ~ 959 | 100.00| Tnklst | 000 ~ 959|242 12.24 Zh st 1.00 | 500 ~ 1056 100.00| ThUs | 500 ~ 1689| 2.42 12.24
12 100kN/m##E2%| 1.00 | 000 ~ 141 121.50 |3mzx8BZB| — ~ — — — | 100kN/mZz#Bz25 | 1.00 | 1063 ~ 1517 121.50 |3mZE#BZi5 -~ — — —
st 1.00 | 1.41 ~ 920 100.00 | #nList | 000 ~ 920 | 2.46 12.41 zhst 1.00 ] 6.00 ~ 1063 100.00 | #hlst | 65,00 ~ 1517 2.46 12.41
13 100kN/m##%25%5| 1.00 | 0.00 ~ 087 113.02 |3mEBZD -~ — — — | 100kN/miZ#8x5 | 1.00 | 1088 ~ 1344 113.02 |3mZEBAD -~ — - -
st 100|087 ~ 865| 100.00| Fnkls | 000 ~ 865| 2.32 11.75 zhs 1.00 | 5.00 ~ 1088 100.00| ThUs | 500 ~ 1344|232 11.75
14 100kN/m## 2% — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%#BZ % — - ~ — —|3m%Ei#BZ % -~ — — -
ZznLst 1.00 ) 000 ~ 756 96.71 | This | 000 ~ 756 2.34 11.83 zhs 1.00 ] 5.00 ~ 1059 96.71 | #hs | 500 ~ 1039 234 11.83
5 100kN/ Mm% 2% — -~ = —|3mEBZE| — ~ — — — | 100kN/mM%#8Z % — - ~ — —|3m%i#BZ S -~ — — -
ZznLst 100|000 ~ 717 91.13 | #hbs | 000 ~ 717|244 12.34 Thst 1.00 | 5.00 ~ 1009 91.13 | #hsn | 500 ~ 1009 2.44 12.34
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16 100kN/ Mm% 2% — -~ = —|3mEBZB| — ~ — — — | 100kN/mM%#8Z % — - ~ — —|3m%EEBZD -~ — — —
ThLst 1.00 | 000 ~ 633 79.54 | EnRS | 0oo ~ 633 | 2.06 10.39 ThLlst 1.00 | 6.00 ~ 893 79.54 | RS | 500 ~ 893 | 2.06 10.39
17 100kN/m%# 2% — -~ = —|3mzxEB2B| — ~ — — — | 100kN/mM%E#B x5 — - ~ — —|3mZEBZ 5 -~ — — —
ZhLst 1.00 ) 000 ~ 401 50.26 | TS | 000 ~ 401|208 10.49 TnLst 1.00] 5.00 ~ 502 50.26 | TS | 500 ~ 502 208 10.49
100kN/m#E# 2% ~ ImEERD ~ 100kN/ Mm% 2% ~ ImEBRD ~
Zzh st ~ Zhn st ~ Zh Lot ~ Zzh st ~
100kN/m##8 2% ~ ImEZD ~ 100kN/mM%#8Z % ~ ImEEZRD ~
Zzh st ~ Zn st ~ ZHn Lot ~ Zznst ~
100kN/m##8 3% ~ ImERZD ~ 100kN/mM%#8% % ~ ImEBZD ~
st ~ zhilst ~ zhst ~ zhist ~
100kN/ Mm% 2% ~ ImEEAD ~ 100kN/m%#8 2% ~ ImEEZD ~
zhst ~ zhist ~ zhst ~ zhst ~
100kN/m## 2% ~ ImEHEAD ~ 100kN/m%#8 2% ~ ImEHZD ~
zhst ~ ZThist ~ zhest ~ zhst ~
100kN/ Mm% 2% ~ 3mEBAD ~ 100kN/m%#8 2% ~ ImEBRD ~
st ~ ZhLs ~ zhust ~ s ~
100kN/m%# 2% ~ ImEBRD ~ 100kN/m% 82 % ~ ImEHEZ D ~
st ~ Zzh st ~ zh st ~ ZhLst ~
100kN/m#E# 2% ~ ImEEAD ~ 100kN/ Mm% {82 % ~ ImEBRD ~
Zzh st ~ Zh st ~ Zh Lot ~ Zzh st ~
100kN/m%#8 3% ~ ImEERD ~ 100kN/mM%#BZ % ~ ImEEZRD ~
Zzh st ~ Zhn st ~ Zh Lot ~ Zznst ~
100kN/m##8 x5 ~ ImEEZD ~ 100kN/mM%#8 % % ~ ImEEZD ~
Zhst ~ Zn st ~ ZnList ~ Znst ~
100kN/m#%#8 3% ~ ImEBZD ~ 100kN/m%# x5 ~ ImERZD ~
zhst ~ zhist ~ zhst ~ zhst ~
100kN/m## 2% ~ ImEHAD ~ 100kN/m##82.% ~ ImEEZD ~
zhst ~ zhist ~ zhst ~ zhst ~
100kN/ Mm% 2% ~ ImEEAD ~ 100kN/m%#8 2% ~ 3ImEZD ~
zhst ~ Thist ~ Thst ~ zhst ~
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